SAP ABAP table HRI1403 {Exposure group -> Long-term average (LTA)}

TOO06

HRI1403-LTA_ RVUOM = T006-MSEHI 0N MANDT [CLNT (3)]

—_—

-7 MSEHI [UNIT (3)]

_ -7 T7EHSOORA

MANDT [CLNT (3)]
- ¥ | ARATE [CHAR (1)]

- T7EHSOORN

________________________________________ 2% | MANDT [CLNT (3)]
____________________________________ 0..N [ NRATE [CHAR (1)]

e T7EHSOORVB

~ . _HRI1403-LTA RVSOURCE = T7EHSOORVS-RVSOURCE ~ 0..N |MANDT [CLNT (3)]
RN RVBASIS [CHAR (1)]

CTTe- T7EHSOORVS

-_—
= — -

0. N | MANDT [CLNT (3)]

RVSOURCE [CHAR (20)]




